


@ Jump and twist more than baseball players

@ wear low-top shoes, whereas baseball players wear high-tops
(e¢) wear more ankle tape than baseball players

(@) play more aggressively than baseball players

P 3. According to the passage, in which of the following w .
’ ‘
ankle injury than taping? 9 ways s bracing a better choice for treating an

1. Bracing is less expensive when used over the course of a season.
* Il. Bracing decreases the range motion of the ankle more than taping does .

. lll. Bracing is often considered more comfortable than tape.

- (a)lonly
_[ (b) 1and Il only
@ Il and Il only

(@ 1. and il

4. Which of the following statements from the passage represents an opinion, rather than a fact?

II‘.}" A:J'-'-‘.-'

i @ “Both taping and bracing are typically only used after a player has already been injured” :

“One of the most common attempts to prevent ankle injuries in the first place is simply
using a high-top shoe rather than a low-top shoe.”

“Researchers have found that shoe height did not improve resistance to eversion moments,
but did significantly increase resistance to inversion moments”

——————r—

@ “But while high-top shoes may help protect players, players shouldn’t spend a great deal
of money on their shoes.”
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p Read the following text and answer the questions.

Latin as a Second Language

Many people believe that it is beneficial to leamm a second
language. Knowing two languages makes it easier to travel
to foreign countries, communicate with people from other
cultures, and conduct international business. Even if you do not
learn to speak another language fluently, studying a language
is a useful academic exercise because it requires concentration
and logical thinking.

Some people choose to learn Latin, which is a dead language.

over a thousand years.

Nevertheless, schools in many different countries offer courses in Latin. Some argue that Latin can
help English speakers build their vocabulary, since many English words are derived from Latin. Ly,
is also the basis for all of the modern Romance languages. If you already know Latin, languages ke
Italian and Spanish will be easier to learn. Nonetheless, if you choose to study a language thatng one
speaks anymore, many of the practical advantages of learning a second language are erased. Thi
means you should think carefully about which language you choose to learn.

Latin has not been spoken for

1. The author apparently believes that Latinis

- . @ completely useless as a second language

@ less useful than spoken languages

@ useful for English speakers but no one else

@ more useful than other dead languages, such as ancient Greek

2. Based on information in paragraph 1, it can be understood that the word beneficial belongs 1o
which of the following word groups?

@ healthy, wholesome, nutritional
(B) wise, smart, intelligent

() advantageous, helpful, valuable
(d) common, usual, customary

3. Based on information in the passage, it can be understood that a “"dead language” is a langua¢
thatis |

(a) over a thousand years old

(b) not spoken anymore

(o) useful for learning modern vocabulary
(@) the basis for other languages







